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Unit 8 Review Sheet

Pythagorean Theorem
1. What is the Pythagorean theorem?___a*+b >z ¢ ?

2. When can you use the Pythagorean theorem?___ £ra bt & oNLY  coly
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3. Find the missing side of each of the triangles below in simplest radical form:
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4. A soccer field is a rectangle 90 meters wide and 120 meters long. The coach :
to the corner diagonally across the field. How far do the players run?
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5. How far from the base of the house do you need to place a 15' ladder so that
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How can the Pythagorean theorem be used to determine if a triangle is acute, o
If__o*tv?*>c®  thenit's acute
If_e2+b?¢ C?® thenit's obtuse
f__ e e*x e’  thenit's right

Determine if the following sides lengths form an acute, obtuse or right triangle:
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What makes a set of sides of a triangle form a Pythagorean triple?
When 0\1“6'1 = fz‘
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Trigonometry
1. What are the trig ratios (that's a theta):
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2. Complete the following trig ratios using the diagram below:
. A 2 B B
sin(A)= —5"- sin(B)= 3 3. Which angle is the angle of
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5. Why can't a sine or cosine ratio be greater than 1? 3
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6. In AABC with right angle at C, if sin(A)=5x-0.1 and cos(B)=3x+ .4, what is the value of x?
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7. When finding a side of a triangle, Tuse $'n , cos or t&n

8. When finding an angle of a triangle, [use £’ , o5 or 4en

9. Find the missing side or angle. Round all answers to the nearest tenth.  So Camn Toa
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10. A boy, 6ft tall, looks up at the top of a tree at an angle of elevation of 30°. If the boy stands 40 feet from the tree,
what is the height of the tree to the nearest foot?
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11. A bird sits on a fence 5ft tall. The bird spots a bug on a tree 15 ft from the g
at an angle of 50°, how far is the bird from the bug to the nearest foot?
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Law of Sines C
Round to the nearest whole number

ound. If the bird looks up at the bug
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5. For the figure below, find AB to the nearest whole number if CD = 20
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Law of Cosines
Round all answers to the nearest whole number

1) Find RT 2) Find DE
T
r £ 3 yj
23 10
s 48°
. D 26 F
R 15 S
¢ 2.9 Jecos F
2. = ete
t gtz r"#?‘z"?.r‘fn:&($> f s tre ¢
g2z 23+ (1672 (2N 018D os(T?) FzpotHree)i-2(md2e) cosHE>
‘ Jf{;wza«.osww?
Je2 /136, 20549532 |
f- 26.6¥5 =2 (2|
S .y =12
3) © Find mzH 4) Find rif  InARPQ,q=11, p=22, msR =96°
P p
K r
h 29 28 h‘-";_ P'.’..L',gz.- Z_FKPL‘ H ‘}, t
: q¢
0 2 V- 2( 24X 2 tes H
y . (221 = (26T #2530 -2(20X R
2 Hed = 1460 - 1456 tos M ¢
P
-G =

Fls phope tePaa tos B
w156 ey F d P

9
|.\J
r

»_:»_m%-(u'a"—-?{Z?ECII\CGS(%
w7326 0% = tos Y '

| r? .}5s$‘$q 17762
t7.407

5) Find msR
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6) What is the measure of the smallest angle if
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